DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

Division: Name:
Time: Score: A
w) =294+ (—0.6) = 196) 45752 = 0.8 =
52 4085.2 = (.7 = w1 —0.5336 + (—0.04) =
w1 —3257.1 + (=7) = 038) 32.372 + (—0.04) =
59 116.9 +0.1 = 199 776.96 + 8 =
) 86.78 + 0.1 = W —4465.2 +6 =
6 108 = 1 = o0 —3.117 + (—=0.06) =
w7 —16.572 + (—0.06) = 5020 1.749 +0.05 =
5 20.027 + 0.7 = 03 —723.4+-02 =
#9) 23.364 + (—0.4) = 09 —160.9 + 10 =
w0) 642.7 + (—=0.1) = 505 66.192 + (—0.7) =
w1 —54.53 + (=0.7) = 506 376.26 + (—0.06) =
192 —=5700 =+ 0.6 = 507 2094 + 5 =
w9 1.754 = 0.1 = 09 519.3 = (—10) =
101 —854.4+04 = 509 99640 <+ 10 =
15 595.21 + (—0.07) = 510 —(0.0576 = 0.01 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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